T3226/T0864 COMPUTER ORGANIZATION
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Time: 3 Hours
N.B : (1) Question No.1 is compulsory.
(2) Attempt any three questions from remaining questiogs“: SN

(3) Figures to the right indicate full marks.

QI(a)Multiply using Booth’s algorithm (-7) * (3). S \ ) e
(b) Explain parallel processing. S S SN . 5
(c) Write a note on 1A-32 register model. LEE8 5 S
(d) Compare Horizontal and Vertical o;g’aniz-z’sf_’io_ﬁ. 5 & \ 3 S 5
Q2(a)What is cache coherency? Expiam varlous metjlods to achieve: 1t eyl 10

(b) Explain mlcroprogranumng DEa\w and explam mzcroprogrammcd control unit. 10
Q3.(a) Consider a 4-way set assocmtwe Cache Mappmg w1th Cache Block Slze—lé bytes

Cache SlZG—-Sk,M&l}_’LMCIﬂOI‘){ Size =64k. Deslgn a cache structure _qnd show how the

Processor addrg_sg'Ii\__é‘:_'__intﬁl'lprepeg_i.- 3 10

(b)Why is page :'_geplaéé'ﬁg'eg;t algonthm required. Ex plain how pages are replaced between
cache and _ma_iri-_niéﬁié_fy"using replacement policies. 10
Q4 (a) Explain various ac‘oéss-methodS'for UO dév ices 10

(b)Epram how a v1rtual address is’ converted mto physwal address using paging .Also

cxplam Translatwn L00k~ aside Buffer. | 10

' QS- (a)Explam with examples.-dl'fferent-addressmg modes of 1A-32. 10
& (b)Wme mlcromstructlons for the mstmctlon Add Ro, [R3] . 5
(c)EXplam m bnef abOuf Nancoprogrammmg 5
_Q_tS_(_a)__W;:tp anote on.F lynn\_ s classification. 10

oy (b’)Epram the Hazardsm fipelining and solutions to overcome them. 10
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T3226/T0867 MODERN INFORMATION TECHNOLOGY FOR MANAGEMEN
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L] Q.P. Code:18380
Ele chonicS
(2 Hours) Total Marks-40
Note:
1. Q.1 is compulsory
ii. Attempt any three questions from remaining five.
iii. Each question carries 10 marks. ,\_
1. Answer any five. 7,
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What is structured cabling?

What is web server?

Explain CIA triangle in brief.

Write four good practices used for password management
What is Ethernet? FLs SR
What is Biometric system? Explain it,

State Network topologies.

What is a firewall? Differentiate among the different types of firewall.

. Explain Enterprise resource planning (ERP) and its need.

Why is Audit needed and what is- the. plaimmg requlred for COnductmg Audit?
Differentiate between DBMS and RDBMS.

Explam the term business process outsourcvmg‘(BPG))

. What s the need of intranet in an organlzatlon" State the benefits.

What is HTTP and what is its purpose?
What is e-business? Differentiate it with e-commerce.

s

a. Define operating system. _E}gp'fain_di'fférent types of operating system.

- State different types of cable? Explain fiber optic cable in brief.
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T3226/ T0866 DIGITAL SIGNAL PROCESSING AND PROCESSORS
B al . Q.P.Code: 016380
Ciee T (3 Hours) [Total Marks: 80]
NB:
1) Question No. ONE is compulsory.
2) Out of remaining questions; attempt any THREE questions.
3) In all FOUR questions to be attempted.
4) All questions carry equal marks.
5) Answer to each new question to be started on a fresh page.
6) Figures in brackets on the right hand side indicate full marks.
7) Assume Suitable dats if necessury
Ql. Attempt any four (20 marks)
a) State and explain relation between DTFS, DFT and ZT
b) Explain the need of DSP processor.
¢) Differentiate between Butterworth and Chebyshey filters.
d) Explain frequency wrapping effect in designing IIR filter.
e) Compare DSP processor and microprocessor.
Q2. a) Explain Gibbs Phenomenon and state its significance in FIR filter design, (10 marks)
b) Explain different addressing modes of TMS 320C67XX DSP processor. (10 marks)
Q3. a) What are the salient features of TMS 32067C67XX family of DSP processors. (10 marks)
b) Compute the circular convolution of the sequence using DFT aﬁd IDFT, x1(n)={1,2,0} and
x2(ny={2,2,1,1) nm ° (10 marks)
Q4. a) Compute IDFT of the following sequence using inverse FFT algorithm X(k) = {3,0,3,0,3,0,3,0}
(10 marks)
b) Explain VLIW architecture in details * (10 marks)
Q5. a) Design Butterworth LPF to meet following specifications.
Passhand gain is (.89
_Passband frequency edge 30Hz
Attenuation 0.20
Stopband edge 75Hz (10 marks)
. b) Design analog Butterworth filter that has -2 dB passband attenuation of 20 rad/sec and at least -10 dB
stopband attenuation at 30 rad/sec. (10 marks)

Q6. Write short note on following (Any two) (20 marks)
a) Frequency transformation in IR filter .
b) Application of DSP in speech and Radar processing
¢) Limit cycle Oscillations
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2. (a)

(b)

3. (a)

(b)

4. (a)

(b)

5. (a)
(b)
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T3226/T0865 POWER ELECTRONICS 1

REVISED COURSE
(3 Hours)

Question No-1 is Compulsory. Magkc oy
Attempt any Three (03) Questions from remaining Flve (05) Quest g
Assume suitable data where ever necessary. o

Attempt the following Questions (any4) A

a) Draw the Two Transistor Model Of SCR? State all the currents Equat1ons of 1Cy, IC;
&,la

b) Why forced commutation is required in DC to. AC converters.

¢) Calculate output voliage for a step down chopper with: V1n—~200. V and Dm_y Cv\.[e -—0 35 .

d) What is the Need of freewheeling diode in rectlﬁers §tate with: example o~ A

e) Explain brief why harmonic Neutralization isnecessaty in-output-of'i mvertcr

f) Define and explain performance parameter of controlled rectifier -~ =

What do you mean by Commutation of SCR? State the various methods of commutdtlon of
SCR, Explain force method in detail.

What is difference between a cvcloconverter and an ac voltage controller ‘Explain single
phase converters with wavetorms

Explain the Basic Structure& static characteristics of IGBT with creation of inversion
layer &conductivity modulation

Draw and Explain Buck-Boost Converter with the help of circuit diagram and wavetorms
Derive the relation for load voltage.

A three phase bridge inverter is operated in 180°conduction mode is operating from a 560V
DC supply ,Find out the following (I)RMS Value ._of-O'_L;fp_u't:_line and phase voltage (I[)RMS
Value of fundamental components of line and phase Voltages

Explain the Static -V Characteristics of TRIAC? State Forward and Reverse Characteristics,
Compare DIAC- TRIAC.

Why the protection of SCR in Necessary? State the various protection of SCR, Explain any
one method in detail.

State comparison between control strategies of chopper 1.PWM control 2.Varable Frequency
Conrol 3.Current limit control. A step down chopper feeds a resistive load of 10 ohms from
100V DC supply .Calculate duty cycle required so that power dissipation in load is 100watts

- Write short note on (any 4) :
(a) Halfwave controlled rectifiers with R load with waveforms

(b) full bridge inverter with waveforms
(¢) Cuk regulators

(d) Construction& operation of GTO
(e) Compare IGBT and Power BJT
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T3226 / T0863 ADVANCED INSTRUMENTATION SYSTEM
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[Time: 3 Hours]

Please check whether you have got the right qu@tj
N.B: 1. Questionno.1is compuisory

Assume suitable data whenever nen:essau'yr
Figure to the right indicate full marks.

_C:-LIJI\J

Q.1 Explainin brief
a) Integral controller
b) Temperature transmitter
c) Telemetry
d) I-P converter
Q.2 a) What are the different typgs‘j't_ﬁf_-i:gntr’q! vta,i\',rg;égtq_zat_az‘s?\' )
actuators in detail. b ST e . |

10
b)

Q.3 a) 10

b) 10

Explain controlyiflvé chaa‘acterlstlc

3/5 Jf the full trav L ;5 3cm fmd fhe ﬂow at a 1 cm opening.
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effects of scaling 10
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N using dynamic CMOS logic.

VE
S

3

ur
In
ai

\h_

dc
. \‘?;! >
ite, re
ain‘the.
o

i

an
S
l

MOS

f101*01
arry.

er)ca

ANV oy

n

oy

s wri

N

1
K]
o

-0 2
T

dde

ti

ar
i‘t-
AN

8198A654033A5DDD10138F | ID5S9CTDAD

N Q

air

\\‘ e
icatio

|

Itip!

Q.3 a]Draw 1T DRAM cell and

on the area, delay, power consum
b] Explain transfer characteristicsf
b] Explain scheme for mu

in W/L ratio?
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